¢ | Roll No S'S'C(F(Ef:;‘;gi)oi_; 2024 PaperCode | 7 | 4 | 6 | 1
Biology (Objective) Group - T (&)=l
Time:15 Minutes (pr ~ FLV Marks : 12
Note: Write answers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.
LSl S _L,q_#u-‘.'é_x’b.’ih'»"‘é_nL/_,@'lK..'..sﬁu»,;(é%’(}lﬁ-ujééf: DCBAcMZ X gl g 129
1.1 The length of trachea is: :4‘:.(5;14.@{/‘ 1.1
(A) 18cm (B) 16cm (C) 1l4cm (D) 12 cm
2. The amount of urea in normal urine is: L&ﬁ;lﬁ’(f&/{(ﬂy%gj}b 2
(A) 7.3g/L (B) 7.7gL © 93gL, /7 (D) 9.1 g/L
3. The hormone that increases the blood ghicose level is: i ,ff te bl (RL i F L oFrgrsy 3
(A) Insulin o (B) Cal;{{to hin Gt
(C)  Adrenaline e (D) Gl cagoa / "“"“‘\ oF
4. Total number of bones in both hands is: /\\ ‘ ;,u”u;f (uin 4
(A) 34 ® 44 S0 O )\} 54 \
5. Which one is the latest method of vegetative i0n’? - L O@C%gj)mf e LY S
(A) Cloning y ~
(C) - Cuttings \ -~ LS
6. Which one is the exan)ée of ste}q tubers? / fe s J@J)/.;:’ﬁ”u{fautuj .6
(A) Dasheen u’;ﬁ/q(%u)\ Pota . f\Q}u}d / i (D) Tulip ' uf
7. Which Oﬂhe following 1s"‘g€:netlc Y S~ ?.:_--L«uﬁ:l.ﬁfwa:_ww 3
(A) meN (B) tR (C) DNA (D) rRNA
8. Thegph/eh})typlc ratio at F, i of ind bvea L I i P Fy Lostdenia$iily g
assortment 1\ \
(A) 9:3: 3& \(B) 9: 3&, () 9:3:1:3 (D) 9:3:8:2
9. Thickness of blospgera 18 a,b\out :c‘-éerk ﬁgf A9
(A) 10 km /ﬁk (B) /z’o km &0 (C) 30km x#30 (D) 40km &0
10. Which plant is NOT qé,mlvorous? | fe - I Aglgd 10
(A) SunDew ¢ S (B) Cactus 4
(C) Venus fly trap .,_,/,,)J:Jiu‘:-, (D) Pitcher plant Al A
11. Dolly is the name of: ke ptds 11
(A) Cow k2 (B) Goat ¢s£ (C) Rabbit §/7 (D) Sheep 3!
12

12.  Which of the following affects the production of sperms in men? T{‘_-_G"f}uf}!i /,,;Jf A

(A) Marijuana b2y 2 (B) Codine s
(C) Morphine g.‘.i,t (D) Mescaline ufs’_f
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| Roll No S.8.C. (Part-II) A /2024
L . (For All Sessions) .
Biology (Subjective) Group -1 y () =
Time: 1:45 Hours EUUP ~}—2 Marks : 48
Section - | St
2. Write short answers of any five parts of the question. (2x5=10) L Felin er;ég:.-df 2
(i} Whatis the difference between the functions of pulmonary artery and S DAY U L a5 oS 27 5k (i
pulmonary vein? R -
(i) Write four symptoms of Emphysema.- & 1 el ds (il

{iif) g:énp;arie etgea ic;oncentration of oxygenand CO; in inspired AT st Astdhd s Frstgumld Ay, (i)
expired air. ;
¥ ek ST S

(iv)  Whatis the role of succulent organs in plants? \?‘,gz_ﬁmuf‘ M}CT el Funy  (iv)
(v)  Compare the role of kidneys and lungs in homeostasis. G K S L s e St wa (V)
(Vi) Whatis meant by a stimulus? Write its two examples, GoenE e Ve P )
(vii) Whatis difference between central nervous system and peripheral nervous system'.%f%‘ad)y’ -t iR gl s (Vi)
(vili)  What s the relationship of somato trophin with acromegaly? G wd iy bak
Write at least one symptom of acromegaly. & /"/,;'y u,ffJJi’ s A P C—UFLJX'JJ!‘JJ/J{K {viii)
3. Write short answers of any five parts of the question. (2x5=10) / ~Erfer 2 LS 3
() Differentiate between flexor and extensor muscles? ' ! 4 :}'u ol Ll 37y (i)
(i) How many bones are present in skull of human? //*\\ \ <"“‘\\ e BATERE (n)
(i) What are suckers? Give two examples. / f\\\ \ kbt a5 (i)
{iv) What is meant by seed germination? Give interfial A, 2o b ) e ¢ We Foonl® &
conditions for seed germination. ﬁ \ J fi/j K"i“ )2 dE )
(v) How strands of DNA are arranged? ( S o < ) ;d: L ZDNA (V)
(vi) What s translation? N \\ O% ) T Pe bl a1 (vi)
' N\ —— % \

o ESEaA il)
: uyﬁ)}éémﬂf.’gdu‘mj/ﬂ,ﬁyLJJ‘,»:u.“J’; F, |
7 -E iz Ll 8 4
_Mrfiﬂgé:rlflj{{l:cléf‘—/){f (i)

(vii}-  Define incomplete dominanc ‘f /'?
(viii)  What was the phenotypic 3{; of m\e}gﬁan monohybrid / >
and Dihybrid crosses in F ' R
4. Write short answers of amirts of\ﬂ\e questi @ )
(i) Write fouyharbfocf abiotic componéqfs of an ¢

(i) Define A food web, N\, ] LIPS i)
i) Writgf)fl(e?o&g of bacta n nitrficat \7/’ o B S CH s (i)
(iv) What are epi[;m”res? Howndo ) // LS AT AT i Vg W)
(v) Whatis meant by menta%{? & Ses et ()
(vi) Write any two beneﬁ-tsb(the usWenter. e 3L L FA (i)
{vii) Whatis the difference betieen Mmacy and pharmacology? S VS (Vi)
(viil) - Define sedatives and giveexample. ey S St (Vi)
Section - I1 (2
Note:  Attempt any two questions from the following: (9x2=18) A1 f ez latrve e gl itm—es
5. (8 How does skin and lungs work for homeostasis in humans? (4) sl ¥l Lo vt b/ b 2uisi ()5
(b)  Define cartilage and explain its types. (5) & /yu,‘;r{;,(;m”u S 8 2eldls (L)

6. (a)  Ontouching a hot object our hand is pulled back.
Define and explain this process.

(b)  Whatis vegetative propagation? Write about bulbs and corms. (5) du:"’d e AL /-,f;,l;,-??‘atf oSl s G
wed FFE B2 ()T

“’e

4 S ey PSS gu‘grwéf &G AT grf s (LB

) Whyis genetic engineering considered a milestone in modem biotechnology? (4) e bl UK B A BAE 2

(R

a
. (b)  Explain the importance of vaccines in preventing infectious SIUAS i Ll s & Lira gl (L)
diseases and how they stimulate immunity? (5) B om o

J Se 3/ S b
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et S.S.C (Part-IT) A/2024
| Roll No —"‘—‘1 (For All Sessions)

PaperCodel7l4|6l8|

Biology (Objective) Group -1 ()bl
Time:15 Minutes ,wa ~df Q’L’ Marks : 12

Note: ~Write ardswers to the questions on the objective answer sheet provided. Four possible answers are
given, Which answer you consider correct fill the corresponding circle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.

ST SA Q_g_‘?uf;}l:ﬁwaﬂl‘/?t?ib’....,fﬁcm)/?cébﬁm-wézé:: DCBAcMZ Ll iz 12d
1.1 End of skeletal muscle attached with immovable bone is called: et ctni2 e 4t P F 20K S J‘:'f 1.1
(A) Insertion (77 (B) Joint ez (C) ligament »»¢ (D) Origin sl

2. It is the opening through which seed absorbs water: e b Be el 2
(A) Microphyle ngc, L (B) Hilum H'/l(
(C) Integument o L (D) Testa i e

3. Adult population infected, with HIV in Pakistan is: /(””““\;‘i,d;gf./}bs HIVY UFL cjt","g 3
(A) 0.3 % (B) 0.5% ©) ( 0N % ND) O\ 07%

4. Which one is an example of co-dominance? \ \ ?;.%J NS el A
(A) Blood Group B s /:m(ﬁ) Blo Grou;‘?r*’ \ s
(C) Blood Group O ,1,}.,,/’ . Q \ )}  Bloqd \QJQ .4_.1..;;f ik

5. The biologist who hinted at evolution for the first time Was: 7 ?f PRI 7 PR
(A) Darwin g5 (B) Mrck Xy (\&)\ Bu %%\O (D) / Mendal  Ji

6. R-2 stands for? 4 \\\ J\ ™ 3 4 S sl e R-2 6

(A) Reduce JW;[ (F) Reuse, Jb?:}ij{. ((Wf\@\ i kbogn (D) Renewable .4 %
N \

7. Presence of haustoria ro\gé in some Rlants is f:, S &JJ;J ;erusjzpﬁﬂyui‘uugJ: 7
(A) Mutlalism . p ')v- ONPA(B)  Commensalism (KT
",
\,
8. The vettor DNA and the attach®s

(C) Ps rasitis:‘m '3 u;, ) Predation sl s
colle velNiled: N i

y o "
dfinterestafe . pyl g A tistaz AL EWDNAK g
(A) GMO (B‘)‘_' Geneyn, ¢ (C) RI:eco binant _,.w” ¢, (D) Recombinant DNA D‘NAc;{;_/ ]

9. Which antibiotics\arQ\bacteri‘sidal? surdndiig oot Adised 9

(A) Sulpha drugs \';:5} T (B) Tetracyclines i
(C) Cephalosporins 1/ s B (D) Thiazide diuretics_ sk

10. The disease in which walls of alveoli are destroyed is called: :wﬂtg._uiq_usg;lf dll};.u,':lufu)' Ui 10
(A) Asthma - 2 (B) Pneumdnia Gy’
(C) Emphysema Ledh (D) Bronchitis o s

11. Amount of water in normal chemical composition of urine is: :4‘;.334;1,& \fdg s b L o0 1L
(A) 85 % (B) 95 % (©) 75 % (D) 65 %

12. It controls the secretions of pituitary gland: :c‘-l?'/ i 2 ﬁ)?d/ﬁd){é, J2
(A) Hypothalamus S (B) Thalamus Ul
(C)  Cerebellum For (D) Cerebrum (i

/f{) 39-10-A



S.S.C. (Part-II) A / 2024
Roll e — (For All Sessions)

Biology (Subjective) Group - 11 Q u }Pr&:ﬁh 1) JES 02

Time: 1:45 Hours Marks : 48
Section - | Jil 2
2. Write short answers of any five parts of the question. - (2x5=10) ~Eifelz Lz f;g b 2
(i) Where is cuticle present? Write its function. ~Eif f Iﬁ’uli‘g':.Jnui[ B (i)

(ii) Differentiate the pharynx and larynx. S IS )
(1if)  Write down any four symptoms of emphysema. -y F e dg Sl § (iii)
(iv) Define homeostasis and give one example. - e LimgE u A u":" wx (V)

(v) How kidney stones are removed by lithotripsy? S b SS Al LIS L L E 24 V)
(vi) Differentiate the receptors and effectors. ,/'”‘M“\é{wy,&}bﬁ 5 < WY e (Vi)

(vii) Write two main functions of spinal cord. " &2 17 8 fund 3, J”.{_,, (vii)
(viii) f a person lacks iodine in diet, which disease may occur? / \ ¢ (
3. Write short answers of any five parts of the question, (2x5=10)lx h

(1) Define cartilage. Write names of its two types. e
(i) Differentiate between flexor and extensor mus e(\ \ \\
Ay

(1) What is fragmentation?

(iv) Which is called female gametophyte generatiol in plan(s? O %

\ X
(v) How nucleosomes are formed? ... % N
(vi) Write the names of two sugﬁx’ucleotides\;(hich m'&l_(e triple @ (vi
hydrogen bond with each gther. \ : u
(vii) Define transcription. | ,/"“"\\ | \@ \__\ uSw PSR gey (vi)
(viii) What is meant by naturalsefection? by ! O il i c,gﬂa” JE (i)

4. Write short answays of any five parts of the que\s' O \(2x5=10) MJ iz Ll §f A

(1) What are ﬁami res? Give two types S Bttt sl iumd (1)
(1) How deejomposcx' reak down t ? /ggﬁﬁic CUIT/IpOUﬂdS? B ] u»tﬁyca,_g;ec)uf;m,fdj {ii)
(i) What 46 Yougmean bybio | /// S e tg, (i)
\ » - = i
(iv) What is denitrif‘regtion? \\ ! P S ol iSad (5L 53 (iv)
N\
{v) How gene of interes is isolated? L ?‘a.t‘"g_[:.ﬁ),d.id“‘df K(j.,.jn v)
(vi) Describe application o fermeng?mugﬁ Dairy products. IS5 e u:u'”/jl/fd,;;‘ (vi)
(vil) Cardio-tonic digitalis is made ﬁy,m'/which plant? fe Qb ey UHgs bl (Vi)
(viii) Why tetracyclines are considefed broad spectrum antibiotics? ?;‘.-.H?t_IAﬁJ,fgé:"-U‘J & UL 2 (vill)
Section - II (23,4
Note: Attempt any two questions from the following: (9x2=18) LS nlatrne §fe dditn )
5. (a) Whatare the characteristics which enable the ) Y I I b o~
Xerophytes to live in dry environment? 4) ‘ebnfiL Lt ; ’JV'L‘M?JW By w5
(b)  What is arthritis? Write its types. {5) LI F ISR (L)
6. (a) Write a note on Pancreas. 4) _.&5.;:74)&/@: (-).6
(b)  Explain how seeds are produced in flowering plants? (5) PR R Eutungmd® (L)
7. (a)  Whatis meant by single cell protein? Describe its importance.  (1+3=4) - uk.:.‘;‘iid/u‘i??,)l s (_.df.v/‘:l,}: St
(b)  Describe the sedatives and narcotics categories of T r s A rag (L)
ﬂddictive dmgs ‘ (2,_3:5) -_&Z_fl;}&‘.uu J[’U,Ll"'ric‘ujf)).’.,{féukuuﬂ,ﬁ 1
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gk okd S.S.C (Part-1I) A/2023

(For all Sessions)
lNo____ to be filled in by the candidate | PaperCode | 7 | 4 | 6 | 5
3iology (Objective) Group-1 \UP |- .2 (1)l
Time:15 Minutes Marks : 12
Vote: Write answers to the questions on the objective answer sheet provided. Four possible answers
are given. Which answer you consider correct fill the corresponding circle A,B,C or D in
front of each question with marker or ink on the answer sheet provided.
U e SALS St S nd LK, Azerngd Vdfﬁ-wé‘&.; DCB A=\ 70 ALlJirs 2d
|.1 How many traits Mendel studied in pea plant? PRIV R g & Sesdlpd Jrr  1-1
@) 3 ® 5 © 7 ® 9
2. Source of variations is? ) e 2ibelF 2
(A)  Mutations Ay
(C)  Translation Lﬁu 12
3. Example of primary consumer is : 3
(A) Deer Uz (B) Snake
4. Carnivorous plants are: 4
(A)  Predators by 3%
(C)  Herbivores smds
5. The enzyme used to dissolve blood clo &
(A)  Urokinase '
(C)  Thymosin
6. The drug used to reduce pa ‘ . : el S 6
(A)  Antiseptics . 207 i itk
© e ' Antibiotics A
7 5:::%3/ dndrtSGabE LAl
(A) =(C) ATP (D) NADP
8. Halophyte Y. Sk 8
(A) sea Lo (C) pond ~ut (D) canal . P
9. 'Which organ maintg S LEFe g J
(A) Stomach : o (C) Liver % (D) Heart Ji
0. 'Which bones enclose the brain? s dbituzoud s <10
(A) Pelvic girdle i/_% (B) Pectoral girdle  /Us#%& (C) Ribs (¢ (D) Cranial bones 74/
]. Cystis formed in? te Gt s Ll
(A) Amoeba ki (B) Yeast o (C) Planaria |4 (D) Hydra LA
2. External fertilization occurs in? ?.;_.JnuCJ 37 IJJ S fﬁ -12

(A) Mammals #  (B) Reptiles Fb, (C) Birds usiz (D) Fishes U

/2 33-10-A***



to be filled in by the candidate _]

S.S.C. (Part-Il) A/ 2023

Roll No
BIOLOGY (Subjective) (For All Sessions) ) O
Fime: 1:45 Hours GROUP-I-os/ w P, Marks : 48
 Section - I sl o
(2x5=10) LSfngedl 2

[

Attempt any five parts of the question.
(i) Whatis meant by gaseous exchange?

(i) s it true that frachea remains always open, if yes, then why?
(iii) Write four symptoms of Asthma.

(iv) Write the names of three main steps of urine formation.

(v) What are the problems after kidney transplant?
(vi) What ate Schwann cells? Where these are found?
(vii) What is a brain stem?

(viil) Differentiate between cranial and spinal nerves.
Attempt any five parts of the question.

(i) Define locomotion.
(i) Differentiate between compact bone and spongy bone.

(iii) How does binary fission take place in bacterium? ¢
(iv) What is external fertilization? Give an example. ;
(v) Name any four contrasting traits in pea plant.
(vi) Deﬁne translat]on

(vu)

(2x5=10)

by yeast are better?

(;,  Attempt any two questions from the following:
a) Describe osmoregulatory function of kidney.

Ib)  What is meant by joint? Describe the types of joint with
examples.
23)  Describe the structure of Hind Brain?

’))  Whatis budding? How yeast reproduces by
budding? Explain with Diagram?

i) Describe basic steps in genetic engineering.

)  Define antibiotics and discuss their various types. IQ
34-10-A

?wdﬂ/ J / )/g,k Jg’ uriyc.;-‘;:éu"'

(9x2=18)

fe sl V'l aJ:Fﬁu_vf (1)

sinS gl sl & A ()
2 =i spS(Asthma)..> (i)
Al frppnd LE(uine) oy (i)
‘-'wy’JfLAJ_ui.mML.yu,/’t}ij W
bt (i)
Pl e (Vi)
o 2L Op i LB S (vii)

LSSk dd 3.

ey JES e (i)
e mgdald (i)

(iii)

94.0/Lf £ JJ lr‘{u’lu-w»
RN IR
-2}:‘}' /!2!&!;;6/ 4.
LS sl G)
s ?ﬁ-_[?d_'.f s
EE 0P 2K el Sty Fl
."gg df‘f?c.:l /lf:_rﬂ'r‘
"u?Lff/Kf}Mu’f )2,

(vit)

(viii)

"wbr..*.«t»fdj 4
ERINITIINCN
(324> -

.q"/.rj ..%Qb‘.’ﬁ:«mruc.éf el itomsd
LSS S s S  ® 5

ke J u:’t"?rlf"' lLf l?gﬂ /L«( AT (..,;)

o
e, (-6

ol bt f& 13?‘41:’/’ uﬁriu”djd: _ﬁ.:,.gn aﬁ“agjfl G.2)

97
.g{ugd"vd;t;&&f%:.@_&e 0 -7
E IS i S A (L)



Y xgkd S.S.C (Part-II) A/2023

Roll No ____to be filled in by the candidate ] (For All Sessions) Paper Code 7 ] 4 6 4
- Biologr Objective) - - Growp=The— T e (B
- Timets Mingies  Marks:i2 W P23

Note: Write answers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.

U e SA ek L3 tnl /. Wz (L}Iﬁ.wié‘:u DCB AR L JlgﬁJlr onLd

1.1 The United Nations established Intergovernmental Panel on I J':’u, in Lt i 5 3

climate change in:
l (A) 2010 (B) 2020 (©) 2021 (D) 2022
2. lan Wilmut was belonged to: BFebal 2
(A) India % (B) ScotLand ug (C) Srilanka ¢y (D) America Ly
3. ' Penicillin was discovered by scientist: -lﬁggb’ul W d sl /:JLJJ«:.C-V:"" 3
(A) Alexander Flemming Lbuf  (B) EdWard] Pinl
(C) Ian Wilmut e D) ﬁ SIS}
4. Mesophyll cell are found in: : %@k S
. (A) Plants  ywy (B) Animals  Unde hes s
5. Example of hydrophyte is: b, s f s 285, 5
(A) Waterlily (s (B) Grass .
¢ 6. The middle layer of human eye is call T 6
(A) Retina & (D) Optic disc L5 £T
7. Osteoporosis disease is fQ ﬁab Jg S St 7
€ (A) Brain Uhs g 2ot un/
8. Types of rep A e hl et s
(A) (B) Binary fission FiA
7 (C) ik - ; o Spore formation b
9. In swe 2 ive prgpagation is: -4—-71)’5'02%45@’6?":.}36}2"} -9
g WG » culture  ## (C) Suckers ;£ (D) Cutting &
10. Number of chro » an body cells are: .§_;iﬁuf s S EK L(’- dr Z10
s (A 46 = © s ® 62
11. Model of DNA wa G Ll JFMDNA 11
0 (A)  Gregor Mendel Jir £/ (B)  Joseph Lister Pz
(C)  Alexander Flemming &R (D) James Watson and Crick /sl i?
1. 12. Example of ecto parasite is: -q:.dt‘rJ:fH 85 12
‘ (A) Plasmodium sl (B)  Ascaris . /_},
2. (C) Mosquito A (D)  Entamoeba el

Q 35-10-A**
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Roll No to be filled in by the candidate (For All Sessions)
Biology (Subjective) Cirowy~ 1l EW - ) ~283 ()il
B Time: 1:45 Hours Marks : 48
| Section - | (30) ol >
2. Attempt any five parts of the question. (2x5=10) EFngeds 2
(i) What are vocal cords? What is their function? S Lt S ()
(i) Differentiate between diaphragm and pleural membranes. .5 J/lx /Ju};.mrf A (i)
(i) Write two effects of smoking on teeth, 2 e guinl B (i)
(iv) Distinguish between Osmoregulation and thermoregulation. LA 2Pk s (iv)
(v) Define excretion. R (v)
[ (vi) Differentiate between sensory and motor neuron. Lt b gugS A (i)
(vii) sD;g:g%wsh between sympathetic and parasympathetic nervous L3 ‘;_,w/. ﬁfwwt u@;f il
(viii)  Write the names of two hormones produced in ovaries. ) 4 (LS And hd uﬁy,m: (viii)
Attempt any five parts of the question. (x5=10) & LSk sl 3

'MJ/JJ/’JﬂJJﬂ (i)
-4 ’Jb&f’/{'ﬂ’ﬂ (ii)
B -u:JC{&J)LJ/‘ &y (iii)
¢ ...«'br"'f;ﬁlwbu:" (iv)

(i) Write definitions of origin and Insertion.
(i) Write four reasons of osteoporosis.
(i) How plants reproducé through suckers? :
(iv) . Differentiate between sporophyte and gametophyte g¢
(v) What are traits? Name two traits of human. ; : %
(w) Write characteristics of Watson - crick metiel of DNA. Ve T IR, E s ()
alleles. /7 /’ L mazigs (Vi)
: _u/ et L a0kt (vil)
4 2 71§Lc.¢§f 4,
?e_ﬁéff (i)
LIPS

1iii) Write two stages of organi
Attempt any five parts of the'
() How smogis formed?

(i) Define mufl LJeLig ey Pt (il
(iv) Whata ?u?.;u‘rgfé...@qu (v)
v) What areg : S LE S (V)
vi) Define reco “ /276 DNA e (vi)

and antibiotics? te IV AT ,;’g(f.'wu—?f & (vi)

vii) Whatis difference
Sl /y‘:_.(; gf ¥ (viil)

i) What is meant by

: 33 >
2:  Attempt any two questions from the following: (9x2=18) .;_[/Zf..-—yﬁﬁaﬂlrugéf el
) romiaon o oo gt " Lo S SARL S et ey O
(b) g,ht:éésrlgt?: ggl)g: &tzﬁms&‘:p%p aﬁ";xample Fedbfletnd e el ()
(@)  Explain the structure of a Neuron? Skt () 6
| (b)  Explain spermatogenesis with the help of diagram? \or rs)l'w@;ou,g{ u"’f‘ < ()
(a)  Write four achievements of Genetic Engineering. Ao Kl BB () T
(b)  Write a note on vaccines and their mode of action. Ao B Pl /rr[_u;,,,-'/f, s
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Roll No. it (For all sessionsj PaperCode| 7 | 4 | 6 | 1

| Group-I-uu'/
Biology (Objective Type) R -G -2 & =l
Marks: 12 Time: 15 Minutes &#15 =35 12 /J/

e W2 S 2D C B AN L Sy 08828 Ehetnl et 9
A SLSehL L/CL/‘«,/uwc,u*uuuLD L CB A sz bl Aruiydsdiz
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.
1.1. A muscular passage common to both food and air is called: .»_ru/ G /“-"/é,j_‘/ ui»lm:lu@}z:fz/ﬁ‘uﬁ 1.1

A) Phaynx o2 (B) Laynx ) (C) Aleoli dusd (D) Trachea £/

2. The functional unit of kidney is: :gém&w&.;f 2
(A) Nerve s/ ' (B) Neurons i
(C) Nephron ¢ & (D) Bowman capsule J¥s v

3. Which decreases the concentration of glucose in the blood? Sz 67 ﬂ&’@!ﬁ&'f:{u: Uf .3
(A) Calcitonin u’i«f“{ (B) Testosteron s
(C) Glucagon uf 2 (D) Insulin uijr"f (K\

4. Bone Marrow is found in: \%) e tlllsy 4
(A) Compact bone  ifels’ (B) Spongy bére) e
(C) Osteocytes  lsl (D) Oc: S}tes Sk

5. Pollination is the transfer of poﬂen grain from: 4.!:,“;);’; Kufc/g:ya.u%‘d,;' B
(A) Anther to stigma /La‘*:;., /?"! tngma to anther ¢ f e L&
(C) Sepal to petal /L}’”LJ:" é} D) Petal to sepal 4;,&".::4}’.‘

"a.l:*c_gf‘vjﬁéuzjﬂffufu»;j B
(B) Ovary wali c_ﬂ!:d,d/ul
(D) Anther = A4

6. After fertilization in plants the fruit develo s@
(A) Ovule wall c.,Jf;_’:.JJg»f
(C) Petals <%

7. Which scientist presented { of Segregation? , ?gJﬁﬁ@fJTuLubu*’L«J ¥
(A) Charles Darwin 2505k (B) Lamark iy
(C) Joseph lister *1ii2 (D) Mendal Ji»

8. Alternate forms of genes are called: WL S 2 8
(A) Chromatin  ¢/\s/ (B) Alleles &) €) Coci U8 (D) Characters s+

9. Ali the ecosystem of the world togather form the: _ u‘ab/J(/ e ‘ﬂ/&l{) 9
(A) Biosphere 2%l (B) Community Cs‘;,,f (C) Habitate (& (D) Population u“JJL

10. Example of ectoparasite is: &va "Hf:f .10
(A) Ascaris &1 (B) Tapeworm (s (C) Mosquices A4 (D) Bacteria | &

11. Treatment through genes is called: R el we 5L 2 11
(A) Chemotherapy (%% (B) genetherapy (i42
(C) Radiotherapy Qﬁgé/ (D) Ligotherapy ‘él/f du

12. Which of the following drug is obtained from plants? ".:.dla&)" b.;:._u:::’l»u)fc;uﬁg) 3loss 12
(A) Aspirin &/ Y (B) Insulin s
(C) Opium s+ (D) Cephalosporin s
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Biology Essay Type) ~oGroup-1 (For all sessions)
O</> , Total Marks: 48

Time: 1:45 Hours ~
Section-1

ive part from the following.

i, What is pneumonia?Write its symptoms.

iv. Define excretion. o

vi. What is Myopia?

2. Write short answers " 2x5=10

v. Define Xerophytes.
vii Define mid brain. .
What is the concentration of glucose per 100m! of blood?
2x5=10

Vil
3. Write short answers of any five part from the following.
i Name any two wind pollinated flowers.

i Write any two causes of osteoporosis.
' iv. Differentiate between asexual and sexual reproduction.

i What is meant by theory of special creation?
' State the definition of law of independent assortment.

v What are traits?Give an example. vi.
vii Differentiate between compact bone and spongy bone?
viii Differentiate between homozygous and heterozygous genotypes. g
2x5=10

4. Write short answers of any five part from the following.
i Draw a food chain of grassland ecosystem. ii. Whatis industrial nitrogen fixation?

i Write two effects of global warming. 1+1 iv. Whatis temporary parasitism?Give
v Wirite uses of formic acid. vi. Why does society dislike a drug abuser?

vii Differentiate between analgesic and antibiotic. o
1+1

two examples. 1+1=2

viii Define biotechnology and give an example of old biotechnology.

Section -1I - 9x2=18
Note: Answer any two guestions from the following. . ’
5.(a) What is the functional unit of kidney?Déscribe its structure. 05
(b) Describe the types of joints and give examples. 04
6.(a) Briefly describe neuron and describe their types on the basis of their functions. 2+1+1+1=05
(b) Describe any four ways of natural vegetative propagation in plants. 1x4=04
7.(a) Define fermentation and write a detailed note on its different types. 1+2+2=05
(b) Write a detailed note on the mode of action of vaccines. 4 1+3=04
| fuacines. f¢



2 ., 8.8.C- (Part-1)-A- 2022

RollNo. S art {_]\ PaperCode | 5 | 4 | 6 | 2
Biology ©bjective Type) Group-II- s/ 5 =Pl
Marks: 12 fLw{l & 2=22 Time: 15 Minutes 215 &5 12:4

/,}Jirg,}'i{d{(,}lﬁ; ¥ '..wu.fl’f..:.«f:?u)-:ujéfé_.JDAi,C,B,Aalglﬁ;fli_péJifﬁafi'dg@lﬁd;}/”ﬁ@:c.yfiéo Ulrrl/":d.«:’
' . -Q)/a.gﬁyu(ﬁk):l.:&,//bjﬁ"a_u:fu»"bLD L CBcAsze L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

1.1. This brach of biology is about insects : : ‘L‘}L""’ :..c«l}'éhﬁ,u(&)g 14
(A) Taxonomy (JLE  (B) Physiology G417 (C) Entomology ($.#»#% (D) Biotechnology (.st£¥|
2. Example of micro molecule is e Jedd A 2
(A) Glucose Jﬁ (B) Starch &.t- {C) Protein ‘-/5;4 (D) Lipids 1:55'
3. In 1878 a French Army physician started work on the cause of /T /P62 oSl A I LOLS TS prt1878 3
malaria :
(A) Ronald Ross (3.4t (B) AFAKiIng fle loiic
(C) Laveran i (D) Mendel Qi{@
4, The group of nearest genera is called : ) O(@ :c‘.m(,,,fm /?u"} 4
(A) Order 4T (B) Phylum (@g{\@a&% U (D) Famiy (¢
5. Itis found in cell wall of fungi : 4 @ : :g.tgggufdf:JfJé,e’; 5
(A) Protein ¢2r (B) Chitin &% %(C) Fat o (D) Cellulose sk
6. The stalk of thylakoids is called : <o @ L LBl 6
(A) Stroma {32 (B) Crist \ (C) Granum ,':/ (D) Chloroplast ..*_«/!guyg
7. During mitosis one cell divides irita daughter cells :u.f}:/‘qu_txﬂ.:" :}-Lgu!ml.u’ 7
(A) Two Four (€)' Six £ (D) Eight 27
8. Tumors are produced as a result of errors in 3 : %Lﬂ'é;)/,éa.qﬂfu,z‘,l‘uu’:u" .8
(A) Meiosis U IS | (B) Mitosis U7\
(C) Binary fission u”;jﬂg (D) Multiple fission u”d‘,‘fw
9. The enzyme which acts on lipids is : | : g.r/JQ;:ng’lilu .9
(A) Amylase Zil<!  (B) Pepsin ¥ (C) Lipase (v (D) Protease il
10. The loss of electrons from atom is called : :ugﬁff blﬁlﬁﬁl}gi.z.ﬁf .10
(A) Reduction ‘f:i_; (B) Hydration J%:g@ (C) Oxidation ﬁi_f T (D) Electrolysis 7"511;/‘9!
11. The second function of oral cavity is the grinding of food by teeth : g,tlb.f t‘/,,z,.f.ﬁ/};u(fuif’brb’ !/::K&[Jul 11
is called :
(A) Mastication 5™ (B) Lubrication u"f,‘ (C) Absorption %1 (D) Defecation o4l
12. Pumping action of heart was discovered by : : L’:ﬁ&m}?&./%dfdd: 12
(A) Robert Hooke o fesl (B) Thomas Cooley /i3
(C) Robert Brown f5led.cl (D) William Harvey < sis

235-09-S-7¥ 19180
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‘-’u?t;fayﬁ;«!/:[ziu,»/;fi il -cﬁgg_g}Jrfjgfs il cf%mfdf i
2=1+1 e A i e sl SAESunS -é_é»@g_ﬂﬂfu/’d/y‘ iv
il uy..g/’&:;g—iiu viii 2=1+1 ﬁ?(ﬁufc’:‘f Vi
10=5x2 (,?d.,u;f”&m éL:.».dL¢J3(,» 28
"ujé_réu}u'd’t i VL)/W(_J"I/@! i “r_J/(/c./,v i
?bg;£25359.vi Q;ﬂ/Ué;ngﬁ/.v e sl Ve imeslel iy
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18=2x9 ru,.ao
u’/ ‘éumrm:.(;fc.cﬂ(} s 229
4=2+2 é@uc_J“aaau"‘L QUL () 5=4+1 L& JL&:L{/K&LJ}LJWLU/’U'-(JI) 5
4=2+2 é@wuu{ﬁdué&ﬂ!f&y-(u) ﬁ shyl=sbduimie YL (i) .6
4=3+1 - fuvdu;&»tu/dﬂ(uw&( % u‘”‘“c,‘_}"”dfwuc_d/ivturu" () .7

BlOl()gy(Essay Type) Group—II o (For all sessions)

Time: 1:45 Hours O Total Marks: 48
~ Section-I
2- Write short answers of any fi art from the following. 2x5=10
i. Write the role of nai{w ii. Define diaphragm.
ii. What are the causesof lung cancer? iv. Define glomerular filtrate.
v. Write the major causes of Kidney stone. vi. Define stimulus and response. 2=1+1
vii. Write the functions of thalamus. 2=1+1 viii. Define blind spot.
3- Write short answers of any five part from the following. 2x5=10
i. What is meant by tendons? ii. Whatis meant by arthritis?
iit. What is multiple Fission? iv. What is meant by endospores?
v. What is meant by transiation? vi. Whatis loci?
vii. Define the Mendel's Law of segregation. viii. What is meant by true breeding?
2x5=10

4- Write short answers of any five part from the following.
i. Define Biosphere. ii.

Define ecological pyramid.
Define Pollution.

iii. Define vaccine. iv.
v. What is recombinant DNA? vi.
vii. What is morphine?
viii. Define intraspecific competition and inter specific competition.

What is meant by human genome project?

Section -II 9x2=18
Note: Answer any two questions from the following.

5. (a) What is dialysis?Explain its methods. 1+4=5
(b) Describe the components of human skeleton in detail. 2+2=4

6. (a) What is Neuron?Describe the structure of Neuron. 1+4=5
(b) Define pollination.Describe the types of pollination. 2+2=4

7. (a) Define genetic engineering and describe its objectives. ﬁ 1+4=5
1+3=4

(b) Define medicinal drugs and describe its sources.

36-10-A-—
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Marks: 12 Time: 15 Minutes &15 =3 - | 124
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.

PaperCode| 7 | 4 | 6

LA ]
S Piia

Roll No.

e P dndirdie 14
(D) X4 30 km

1.1. The thickness of biosphere is about: -

(A) #F 20 km (B) ¥ 40 km ©) ¥ 10 km

2. Which one of the following is an antiviral protein?
(A) Urokinases 2%y (B) Thymosin (W (C)

3. Which of the following drug is obtained from the plan{s?

?ﬁ'_.di{g)ﬂ:(ﬁlugdufc.u:(iibu 2
Insulin uij;jl' (D) Interferon u,,};;r |
S Qb b UVt itn 3

(A) Aspirin ¢/ £4 (B) Opium y#! -
(C) cephalosporin sk D) Insulin A |
4, The length of Trachea is approximately____ cm: @‘ (jﬁ/‘fu”l" ___E; )”UUJ ks .4
(A) 10 B) 12 (C) 14 K@Q < () 18 )
5. Which organ is responsible for filtering of blood? " @\O ?.{‘,LJ‘JMJKL/;J’}(C)'}UCTU/ 5
(A) Intestine JL'J‘I (B) Brain ¢/« @ tomach s - (D) Kidneys z..Jf
%5 e P [

6. Insuline and glucagon are produced in
L N
PN

impulses towards the

(B) Interior pituitary A5
(D) Liver £

(A) Hypothalamus
a5

7. The processes that car

(C) pancreas

LA A E LN T
cell body are calied: W Mq;l.lg
7% du (D) Myelin sheath =i

srdnoidUty Ao 8

(A) Axon k! (B) Dendrites Lk}  (C) Synapsis

8. How many bones make our skull?

(A) 24 (B) 14 (C) 22 (D) 26 :
9. Asexual Reproduction takes place in yeast by: :,;ui_u.;.&wﬁu’" “FUk(Yeast)et .9
(A) Budding % (B) Fragmentation ¢**/

(C) Binary fission fd/@ (D) Spore formation /sl -

10. These are the units of inheritance: ' 911 ld/cﬁm, 10
(A) Alleles H (B) Genes (C) Genotype s (D) Phenotype ..?/’L‘jd"

11. Chromatin material is made up of; :g,bnﬁdﬁJL:/ 11
(A) Protein Ky (B) DNA  Keteflss |
(C) RNA and protein s znlelfT (D) DNA and Protein ¥efs slele/Ii}

12. All the ecosystems of the world together form the: :ugé.'_l::/d'(w ’e UL 12

(C) Community (3’:.1
R T /

(A) Population ﬂ;g (B) Biosphere | (D) Habitate -
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Biology (Essay Type) %@ (FOI‘ all sessions)

Time: 1:45 Hours Total Marks: 48
Section-I

2- Write short answers of any five p IK él&he following. 2x5=10
i. Describe the role of stomata. i. What is Diabetes mellitus?
ii. How is the rate of breathi ntrolled? iv. Write the function of somatotrophin.
v. What is Glomerular fi vi. Write the function of meninges.

vii. Write the names o aste materials removed by plants.
viii. What the amount of oxygen in inspired and expired air during breathing.

3- Write short answers of any five part from the following. - 2x5=10
i. State the role of skeletal system. ii. Differentiate between Ongm and Insertion.
iii. Define Cross palination. iv. Write two main causes of AIDS.
v. What is meant by Translation? vi. What is a monohybrid cross?
vii. Define Homozygous genotype and give an example.
viii. Differentiate between Dominant and recessive Alleles.
4- Write short answers of any five part from the following. 2x5=10
i. What is food chain? ii. Differentiate betwecn producers and consumers.
ii. Define Parasitism. iv. What are Epiphytes?
v. What is Beta-endorphin? vi. Write two uses of Glycerol.
vii. Differentiate between broad-spectrum and narrow spectrum antibiotics.
viii. Define vaccine.
Section -II 9x2=18
Note: Answer any two guestions from the following.
5.(a) How do the plants excrete extra water and carbon dioxide(CO,) from their body. 04
(b) What is antagonism’?Explain with an example. - 05
B.(a) Write a note on thyroid gland. (b) Describe germination of seed in detail. 04+05
7.(a) Describe any four sources of medicinal drugs. (b) Write a note on fermented foods. 04+05

541 0o ﬂ



ey e 8.8.C - (Part-ID) -A-2021

Roll No.mgffilﬂbgf (For all sessions) PaperCode| 7 | 4| 6 | 8 )
N Group-II-.i,:f ' -
Blology (Objective Type) (U:’:/") @U’.L’
Marks: 12 Time: 15 Minutes 215 &% ‘ fz'}

/-.Ulyu’l_;(éﬂ}’ﬁ: P '..:/m.;Tf..:a‘;?u)-:u}éf:é_.)D/:‘,C,B,A::«Uﬁ;@&éwr/:éﬁq;(é(dlﬂd:ﬂ/’jdjou_?.é:@Ulfr(?:db}
-q:ﬂaLﬁ_LJu}L/:Lf;}IJ}'WQu:u:f’bLD | CB Azl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. Cranial nerves in Humans are: :q_t&nj,j(Cranial)uE’-’-fu:uux 14

(A) «J# 6 pairs (B) <« /# 8 pairs (C) « iz 10 pairs () <2 12 pairs

2. Which one of the followihg attaches muscles to bones? ?9.@‘;,2:,{_),3; /}/:bgu,g,d: Jits 2
(@) Tendons 74~ (B) Nerves s/ (C) Ligaments u~¢ (D) Hormdnes 2yl

3. Rhizopus reproduces asexually by: :g:;ﬁ;.ﬂﬁuy},{dﬂ}?‘,u:ui,;du 3
(A) Binary fission "5~ (B) Budding %

(@) Spore formation sz sk (D) Endospore formation sz

4. Which one of the following is genetic material? (XO feif e e S it 4
(A) Proteins iy (B) Lipids 74/ (€) H ﬁ&m; (@) DNA I3

5. Choromosomes carry the unit of inheritance whicg }‘f@ :ugdtk&g,g&xugb’l ;f-‘mu&iﬂm/’ 5

# Genes = ((7% “Phenotype »,./Ly"

S
(C) Karyotype ugfbg/_’/ @sz\j (D) Nucleosomes fnf,i

A

6. Dengue fever is an_____infection: ¢y
(@) Viral  J0s (8 %/
7. Which one of the foll
. P 4&
(A) Light Jw
8. Scientists prepared human insulin in:
(A) 1976 (B) 1978 (C) 1980 (D) 1982
9. An antibiotic is a drug that kills : :§_JJL S __,z?_éj,,&;j)ﬂ&i; 9
(A) Viruses  #71s (B) Bacteria |25 (C) Fungi (¥ D) Algae
10. The nasal cavity opens into : e %%[Jﬁ 10

(A) Glottis ¥ ®B) Phaynx % . (C) Trachea £/ (D) Aveoli dugh
:.;.tmu};&.,v/dul 11

0 i .
e i s

S5 (©) Fungal (D) Algal

s a Biotic factor of an ecosystem? Y. /iQJEgK(L/:{ LT A5t T

(B) Water dt - (C) Temperaiure /fy;‘ (B) Producers Js gl
' SehAluiuFe 8

11. The weight of Human Kidney is:
() 1/ 120 gm (8) /130 gm © /140 gn ©) /150 gm

12. The cells which conduct nerve impulse are célled: :@LM%L{?;’:;J%M)Q:: g2

(A) Muscle fibre 76 (B) Platelets Sl () RBC Kiis  (®) Neurons il
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Biology essay Type) Group-II O%Q};X all sessions)
Time: 1:45 Hours @ Total Marks: 48
ection-I
2. Write short answers of any five part fro lowing. 2x5=10
i, What is the function of sensory neuron?

i. Describe the function of Larynx. A\ ~
iii. Identify two processes for excreti "o %ater in plants. iv. Differentiate between endocrine and exocrine glands.

v. Write two functions of human.midbrain.
i§ and pneumonia are increased by smoking?

f urinary system of human.

vii. dentify four comp
viii. Compare exchange of gases in respiration during day and night in plants.
3. Write short answers of any five part from the following. o 2x5=1
i, State Mendal's Law of Segregation.

i. Define Osteocytes.
i Differentiate between Sexual and Asexual Reproduction. iv. Define Hypogeal Germination and give an example.
v. What are Nucleosomes? What are Elastic cartilage?Give one example.
vii. Define heterozygous genotype and give an example.
viii. Differentiate between Monohybrid cross and Dihybrid cross. %
2x5=10

4- Write short answers of any five part from the following.
Differentiate between food chain and food web.

i, Define biotic components and give an exampie. ii.
i, Why are tertiary carnivores called top carnivores? iv. Define intraspecific interactions.

v. What is old biotechnology? vi. Write steps of lactic acid fermentation.

vi.

vii. Define bactericidal antibiotics.
vii. What is the difference between broad spectrum and narrow spectrum antibiotics? ,
Section -II 9x2=18
Note: Answer any two questions from the following. v
- 04+05

5. (a) Explain the structure and function of nephron.  (b) Write note on muscles and movement.
(b) Define pollination and explain its two types. 04+05

6. (a) Write a note on spinal cord.
) Write any five achievements of Genetic Engineering. 04+05

7. (a) Write any four sources of medicinal drugs in detail. {b
36-10-A-—-
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* }a}‘,ﬁ* 8.8.C - (Part-1I) -A-2020

Roll No. o fob (For all sessions) PaperCode| 7 | 4 | 6 | 7
Group-l—..r:/

BiOlOgy (Objective Type) (c,‘:’:/") G’-J.l??

Marks: 12 Time: 15 Minutes <215 &3 12:/4

"I ")’J' 'L‘Kd‘! oW ..-//J-.«‘!(.—"J) g"c’—c...JDAf[C B A..«»"’JJL?Z:;,“’/::J/"GS/J'J’J“/' J ‘).—U}"a—-—«b‘fr\/ oY
e S wmnufg.m.wc.u.w LD CBAszE L
NOTE: Write answers to the gquestions an objective answer sheet provided. Four possible answers ABC&Dto
each guestion are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of

each question with Marker or pen ink on the answer sheet provided.

1.1. Which hormone falls the blood glucose concentration? ‘e r,)?:-f-' }r"j fﬁwn‘w/ A
(A) Glucagon ¢ ¥ (B) Insulin o= (©) Thyroxin i@ (D) Oxytocin 3’7
2 The skeleton of aduit human has the number of hard bones: :,;Jm:,-;d’ug;.;fu:dwé}g.g 2
(A) 200 (B) 196 (C) 206 (D) 201

3. Male reproductive part of flower is called: :,;,r,;.{wg;;m 3

-

(A) Androecium ff,v,_f (B) gynoecium J/-iﬁéf (C) Calyx J‘“’y (D} Corolia bsS
4 The number of hydrogen bonds between Adenine and Thymine is. :g,afi;fg’:,%ﬁdy;;iuf“-éu:iw@d 4
(A) B) 2 © 3 Q@(m 4

5. Blood groups are a good example of variation: Lxd”’ JJ_I/’L,’-G/) 5
(A) Complete Dominance Uf‘;“';iv‘} (B %@te Dominance U L‘EL

3
o

(C) Continuous variations :«',?U)/ iscontinuous variations =2 /

6. The primary source of energy for all ecosys L.ﬂ;:dl,vlﬁi/l “f’(r,’v 8
(A) Sun G (8) Moon <> (C) Generator x2 (D) Electric S

7 Which is the example of Ectop srsied S a7
(A) Plasmodium Al | aris J/;f (C) Mosquitoes /f (D) Bacteria | /:’-?

8 Which of the following is an anti-viral Protein? ‘e ;,f-':,;djf;déldjfc.ng_’s@u 8
(A) Thymosin ¢/»0if  (B) Interferons %32 (C) Insulin ¢ (D) Urokinase JZ(¥us

9. The drugs which inhibit or kill the bacteria within or on the body are: u‘;‘.syfufsc_méw.,-‘// L»'f(’ 9
(A) Analgesics J(':Uﬁf (B) Antibiotics ," LS & (C) Sedatives A (D) Vaccines /ﬁ"gy
10. Human's breatne rate per minute in normal :‘;_.zﬁjw{}o/a_‘;ujbgﬁzéi.f?sz&):,Ubvbtb’ub’! 10
circumtances i.e at rest is.
(B) .\ 18-22 times (C) .\ 22-26 times (D) L 26-30 times

11. Plants having broad leaves with a large number of stomata on their u::u;u_k.){i‘/ S sl 5% Py N

- 7 - N >
SO LD, po S

(A) i 16-20 tmes

upper surface are called:

(A) Halophytes u';/G:k: (B} Xerophytes u"’G:;J
(C) Hydrophytes ™ uﬂ (D) Mesophytes V;’JU{%‘

12. The part of Hindorain that co-ordinates muscle movements is: :‘.j—t'uf/«{_ L’.‘a‘iff Tf‘wgu:.,:‘_-. K/J’JV roonsbe 2 i 12

(A) Medulia Oblongata xafi.s,-u:s;_f (B) Pons 7
(D) Cerebellum ¥

33-10-A-T¢ I W W -30500

(C) Cerebrum 7z
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8.8.€ - (Part-dl) -A-2020

Roll No.__ _ _ _fibue| (For all sessions)
g/ s =Pl
48:/{J d;i,..‘p & 14555

10=5x2 -ec¢«§f:?fy£,;l2l é&c.(jfc.‘ﬂgj_')'(w: -2
- .,VuUJ!fV /..A—f ;' {u ! Al _J" Sy . ,.:._C/}" i "a,lfv”, i‘?/’t’ i
Z
whfa .79.,(' k'/)r\, /.,,.m f\_, I/ Vi — -”L,hec-gcb vV - /u—ﬁ//y V] !"1""-' v

‘LJ}JU. 'r‘”-gji’mlu’wj Vil
OLV‘_J'KL/!’L/-J’LJ(OC.L Ly’ viii

10=5x2 ) e{.wf"émr étr_(j&:_‘ﬁd':b‘u 3
s ,.J)'Q //V‘_/kdﬁl..:';.' BT % ,‘:,;;/L” /'-"'i" i -U'/'C";.,f < "'L/v" Lss! r"'L, wi€
c,v-)»a’ d‘?” vi = 'f.,v/b o -u, v _%Jjut;n;jfy;&/. v
,_;fh Sl .»5' viii Se s S, y #EE Aa, i
10=5x2 ' _ -a”.:,uz/”éuzzf é&aé{ag)ﬁdﬁbﬂ
sif ,jv‘__v@_ﬂ_y/‘vjfj;\j e i ‘.‘_;:f_v/‘./"/c./":_j!’;i";l. N ‘-_L,u_f..’ i
P”b’/ LS &, i furl wﬂ““" V V= «/Lr_u v y-L.}w’ AV
f.f_,ngw._fa_f Vil _»’Uu.ws/, AR vi/.,~/ Vil
18=2x9 r»,.,o

) -LZ/ quf ulfb’»;..(j/c.gﬂgj’ P RO
el AL SE ST P S AL () 5
oy ’/fu »‘L.c’_w(m_,f ~-f,L«J}’J,*:L':‘,’L(u) - @ r’L:"UV’f“:_ if U:..,""‘}’J .() .6
_.-.;__""_’.r V&'J;’_JJOLV’”;’LJ“I % O _..._L,fw:..} (p""'f..{,’i..("’ wn .7

<\

BiOlogy {Essay Type} Group-I (F%@XSSIOHS)

Time: 1:45 Hours Marks: 48

Section-I
8 following. 2x5=10
i. What is arteriosclerosis? ii. Write two bad effects of smoking.
ii. Define co-ordinators and g| iv. Define osmoregulation.
V. What is paralysis?Write its, ohe’cause. vi. Define Deafness and write iis one cause.
vii. What is difference betwedn-Glomerulus anc Boman capsule?
viil. What is pneumenia?Which bacteria causes pneumonia?

2- Write short answers of any five part fra

3- Write short answers of any five part from the following. 2x5=10
i. Differentiate between chondrocytes and osteocytes. ii. Define extensor muscle.
iit. Define Law of independent assortment, iv. Differentiate between breeds and cu'tivers.
v. Define incomplete dominance. vi. What is the theory of special creation?

vii How does vegetative propagation take place in Bryophy!lum?
viii. Write two disadvantages of vegetative propagation.

4- Write short answers of any five part from the following. 2x5=10
i. What is Feod Chain? ii. What is meant by pyramids of number?
ii. Define secondary consumers with an example. iv. What is atmospheric nitrogen fixation?
v. What are cephalosporins? vi. Write down the function of antibodies.

vii. Write down the application of fermentation in beverage products.
viii. What is meant by expression of genes of interest?

Section -II 9x2=18
Note: Answer any two questions from the following.
5. {a) Write 2 note on Kidney stones {b) Explain the components of coordination action.

6. (a) What is arthritis?Describe its different types. (b) Write down the definition,results and steps to control overpopulation
7. (a) Write eight achievements of genetic engineering. (b) Write a note on antibiotics resistance.

34-10-A-30500C
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*ﬁrﬁ S.8.0" - (Part-IT} -A-2020
Roll No. Y 53y S (For all sessions) PaperCode| 7 | 4 | 6 | 6
Group-ll-_.ur
Biolo jective T ) @ =Ll
gY (Objective Type) St -
Marks: 12 Time: 15 Minutes 2415 =3 12: 4

A 38320 cn T2 Pt £ & D C B Actiz b el Jivs '4"2@‘»1}:,2 EPTSevzl e ivpiiad
LA S S 3 2 pE DL CBe A sZE L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet providad,

1.1. The number of chromosomes in human body cells :.;_.4..};?___:!»7-\,( ,'/ym/ f}fi,ﬁ;}ul 1.1
iS____ pairs:
(A) 22 (B) 23 (C) 24 (D) 25
2. Cytosine always form hydrogen bond with: :93;;,, Il 2 2

(A) Thymine c_.d.'J’J (B) Guanine c.wfif (C) Adenine < £“i! (D) Protein a.uf;,;

3. The pH range of acidic rain is:

Q@ finHJ.-ﬁ',L}f;f: 3
(A) 1-3 (B) 2-4 (©) 36 @&
O

(D) 5-8

4 Animals can not take Nitrogencus compound from: iufaéﬂ;:.ﬁig@,{}/b;lg 4
(A} animals (59l (B) Fungi dl:’ @O&us S (D) Plants Uy

5. The complete map of human genome was pubﬁe\\%‘\w : :limétﬁ.ﬁ&[ K2l Lt 5
{A) ;2002 A.D (B) +20C3 A.D @ (C) «2004 AD (D) «2006A.D

6. Diazepam is the example of a type rig’ e Jl:‘wg,(fj_._fld/.;l_.5.sflfg;5'<5 6

(A) Analgesics U’L{V;l (B) ik (C) Antibiotics g_f{f@-‘j‘l (D) Vaccines J:'g:
7. Many chemicals in sm rease the production ;:”f J.&Jffji___}@f;_/»a; .:,,f.u?ruf‘.uf;% T
of ____blood cells: i pes)
(A) White =41y (B) Red i, (C) Platelets u’y_*;'; (D) Osteocytes = s>
8. The weight of human kidney is about: :L;}T_aub(uf Ju» 8
(A) £/ 110 gm (B) ¢/ 120 gm (€) #.7130 gm (D) i 140 gm
8. How many pairs of spinal nerves arise along spinal cord? ‘-'q;i":__)ﬁéf&:}f}ciﬁf L.— 9
(A) 28 (B) 29 {C) 30 (D) 31
10. The smallest bone of human body is: :§,g;$,{ab.,5(gu: 10
(A} Stapes U+ (B) Malleus = () incus (D) Pinna ‘
11. The skeleton of aduit human has the number of hard bones: 2 &%;tﬁd’ugéﬁ‘_}:uu,@g_g 11
(A) 196 (B) 200 (C) 206 (D) 210
12. The female reproductive part of flower is called: :;_;-zify;jg;', AEUE 12
(A) Calyx V’Q! ’ (B) Corolla s/ (C) Androecium (ik;l (D) Gynoecium (f,’dé’

35-10-A- 3¢ ¥ Y2 -18000
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7
4.4)

(For all sessions)

(Part-11) -A-2020

Roll No._. = _/pdmwi
ll-q o0 =Pl
48;/1‘1)/ J;';—b c’:.{ 1:45:3
10=5x2 -.eaauzf’?z:,rzl ég.:.éfc.u:ufseﬂ 2
e k_,w»x »Jw il ‘c.)//.«.—,,J el pd i -u;f/i':‘.',;‘.}/ﬂ}’e‘ifdd'fvgﬂa-‘ |
- |V...U/3‘y /J/’uv"’i Vi lbu ’JIJWJV“ v -vf/‘:—é’;d,u«"}’ v
fe AP AA S Vi e JAAS Gk Skt i
10=5x2 oz P a2 Gie S St itn -3
-J/..é’f&,:,?\j/ ii ('C_JJ_AEP i -VIJ’,:—*:";JVV/;'J '
~ua'-—i’/7d/1\'284; i - ['LL(—'UL«{LJ"J) v ¢ "’v-",u!.:’s»’ v
SAs il oL S (o1 2 i
10=5x2 j’C : !y&ﬁ’/"‘ﬁf’f‘ &Lc.dfc.—gﬁd':bu -
WA i i eV ﬁ/lﬂ i e -,_,J,Vr,,,a ¢
"_ el ul-:,._,E’wa :J_‘,’v,,’..'b” Vi ~c‘,&n_ﬂ/}'u’ # ¥ "c,u)fvwv...n’v -/J’._, AV
te el B A5 (’:f viii ,;f‘“’nuf&ﬂ TGS L Vi
18=2x9 (0 ,
-a)}/..,w&,mma.&’;.‘;ijzw o
sz ' ,‘Vgﬂ;ul/b/&- (s.-v) r.‘.‘}; ..E'_,Uﬁnf LW‘-«L! ‘Vv;’-«‘:f?w;—)z}i(uﬂ‘) B
A w )»u.a-‘&vr Efeu() wl ’UW f/: f/_;u/d L1z () .6
g8 pLE S ,A-(_,) f»".wl: S G () 7
BiOl()gy(Essay Type) Group-1l (F%égbgessions)
Time: 1:45 Hours o Marks: 48
Section-I
2. Write short answers of any five pa he following. 2x5=10

i. Define Aerobic respiration. ii.
iii. Write two functions of hu iv,
v. How is brain protected? vi,

 What is difference between acute and chronic bronchitis?

vill \What is difference between endocrine and exocrine glands?

3. Write short answers of any five part from the following.
. Define flexer muscle. i

iii. Define regeneration. V.
v Write the name of book written by Darwin. vi.
vii. Define continuous variations and give an example. viii.

4- Write short answers of any five part from the following.
i Define decomposers with an example il
i Differentiate between vaccine and vaccination. iv.

v. Define drug i
vii. Differentiate between secondary and tertiary consumers

viii. How storage and expenditure of energy occur in ecosystem?

Section -II

Note: Answer any two questions from the following.

What is meant by gaseous exchange?

Define Nephrone.
Define stimulus and give an exampie.

2x5=10
What is gout?
What are endospores?
Define natural selection.
What are traits?
2x5=10

What is meant by Lactic acid fermentation?
Why is single cell protein gaining popularity?
Why is carbon cycle called a perfect cycle?

9x2=18

5. (a) What is meant by kidney stone?Write its causes,symptoms and treatment.

{(b) Write a note on peripheral nervous system.
6. (a) Define joint and describe its types on the basis of degree of motion.

(b) Describe common methods of artificial vegetative propagation.

7. {a) Write any four objectives of genetic engineering. (b) Write a note on mode of action of vaccines.
36-10-A-18000
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RollNo. P Y T (For all sessions) PaperCode| 7 | 4 | 6 | 3
Group-I- ..',,f

Biology (objective Type) & <Pl

Marks: 12 Time: 15 Minutes 215 &% 12-/

A3zt eon Wit é9D s C.B A_w,ﬁbédqufg ALY LGl v lindd
..L;:/Q&LJwL/;UL/DWc,u..u;/l:LD CB Aszel L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to each guestion
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

1.1. Glucose molecule is broken into Pyruvic acid. -t rﬂz’.zz:.@&;ﬁ:;&ﬁ.ﬁaﬁ A
(A) 5 (8) 3 (C) 2 (D) 6
2. Drugs obtained from minerals is: _4.Jim:/d"b.:—_..~,gpf 2
(A) Morphine  ¢&4  (B) Asiprin ¢/ ¢ (©) Antitoxin ¢ (D) lodinetincture Zezi
3. The length of trachea is: @ -gdnJUJU’/ 3
(A) 12cm (B) 14cm (C) 16cm Q 18cm
4. The weight of human kidney is about: % L /’:_.t'runoz.y A
(A) 126gm (B) 270gm (D) 100gm
‘5. The name of gland present below the human neck r ..a.rtb’b"u;fii-.fi'u* U:/ L'!LH 5
(A) Parathyroid #u.};ﬂﬁ (B) Thyroid wudu @ C) AdrenaiglandJJ’ul (D) Pancrease JL/}
6. The hormon which increases the quantityof ’m ions in blood is: -c.qnlm;.’_w;w‘f yt("-‘{,iu} B
(A) Adrenalin ot’tzzél (B) Cal ":’ (C) Parathermone un/’g (D) Thyroxin ¢~ bdu
7. Number of bones in both h -c‘-:f»’JUa’quﬁu;qu»
(A) 33 80 (C) 54 (D) 126
8. Ripened Ovary changed into: " i Jigxdjif.{ Samsl 8
(A) Seed A& (B) Fruit & (C) Flower AJ¥% (D) Zygote o2t
9. External fertilization is found in: -g.éigégg’-'y’ufﬁjf‘f I .9
(A) Amphibians 2JS5 (B) Mammals 24 (C) Birds (Fussy (D) Reptiles 25 by
10. A cross in which only one trait studied at a time is called: -4_ru¢iawr;,a¢%u>@.g¢;s,.g 10
(A) Dihybrid cross JUZ/.JQJU (B) True breeding jé'/.ﬁ
(C) Monohybrid cross Jl/:t_,:égif (D) Domonient )
11. Gene consist of: S lng 1
(A) RNA (B) mRNA (C) Protein ¢fig (D) DNA
12. Example of ectoparasite is: -4.‘,)!#&/:’1—!,5,‘-! 12
(A) Leech E2 (B) Viruses s (C) Tapwarm ¢se? (D) Plasmodium (=il

33-010-A-W W
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RollNo. < /lobny (For all sessions)
Group-I- .r:f
BiOlOgy (Essay Type) -~ =) h'-'d!?k
Marks: 48 Time: 1:45 Hours & 1:45:=3 48: A4
Section-I 2x15=30 Jilo
2-Write short answers of any five part from the following.  2x5=10 -Ja;mﬁ.&»zn éga.afc.utdlb» -2
i. What is double pneumonia? PRI
« ii. Wha is meant by passive smoking? ":_:!/Lf:_..ﬁ’fr’ A
iii. What is lithotripsy? e s i
v iv. Explain peritoneal dialysis briefly? Aol A L3 LS v
v. What is loop of henle? ’ ?g.tj%’:_}?__,:‘ v
vi. Give function of frontal lobe. LSS i
vii. What is somatic nervous system? ?c_l)?"' Vil i
viii. What is hypermetropia? S s 2z, Vi

3- Write short answers of any five part from the following.  2x5=10 w‘?z:.t?t étc_J:Q-_ijbn -3
i. Describe roles of tendons and ligaments. LA i

i. Define bone. What is its function? e e V¥ LS 6 i
iii. Differentiate between Spermatogenesis and Oogensis. §/\<> ..J_fug,J)u.‘. u“guwu"?}':’,;’ it
iv. Explain traits with examples. O%% ‘ q/:_uﬁc»yu,bf (Traits) =7 .iv

vi. What is meant by nucleosomes?

vii. Define translation.
viii. Differentiate between Genotype and Phéng el

4- Write short answers of any five

Seolple priki i

;ﬁ:uij S i

-J/ubd/u’ulr"u'u b2 viii
mthe following.  2x5=10 _ 0 3 o gl‘._g,r‘._‘;‘; S 4
S5

v. How does AIDS spread? : ;l @ S‘.;.Cf"—"{d;tg\f;,gi v

i. Define community and popu

ii. What is the threat for due to ocean? i‘c_oﬁbc.z,vff.rﬂl. i
lii. What are the products of the two types of carbohydrate fermentation. *'Ja_mf.fiuéu JiL9 )mﬂu"mu/b’ i
iv. Describe the uses of Glucerol in industries. fe S LUy £ iy
v. How gene of interest is isolated in genetic engineering? fe t‘l.gl[,,fkc’;/' b’u’J ;Vt.f ﬁ”) I v
vi. How Edward Jenner use the vaccine? Wl Jegrh A5kl Vi
vii. Name any two Narcotics obtained from opium. 4%&;;‘;( f:»d&fdlu_nd" w;._.»g, il
viii. What is Social Stigma? . e VIS il
Section -II 93 >
Note: Answer any two questions from the following. 9x2=18 -Q&faymﬁa Illmc,(jfc_u: it ad
5. (a) Which are the bad effects of smoking? 05 ?Ugi.nulﬁiﬁc_ufu&'_..»d‘ﬂ:’.(d') R
(b) Write types of “Neurons" and also describe their functions. 04 u‘gf (Lo~ (L—HJ i ()
6. (a) What is cartilage? Discuss its types. 05 gi.r.—f /fUIJJl“c.Lf é’ £.() 6
(b) Describe any four methods of natural vegetative propagation. 04 éfugd‘, )M-_JIL u’-" )¢ 2 ;d/»_(u)
7. (a) Write a detailed note on Carbon cycle. 05 q‘!{.i&"};f' e (i) 7

(b) Describe any eight achievement of genetic pngineering. 04 5:» qu._hK d/«....f ﬁf JA..(u)
34-010-A-
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RollNo. QW L AN« Loiine! (For all sessions) PaperCode| 7 | 4 | 6 | 4
Group-II- s/
Biology (Objective Type) & <k
Marks: 12 Time: 15 Minutes 215 =3 - d 12/

At §6dim st erng U2 et £4D4,CB A_,Lif,@béJlrfdczgéKd'id' /Jd,_w&...mr(u <)
- :/Lu"b\!u"runl.fd_./b.#’c—;ﬂJa/bLD L CBAz&L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
;!pen ink on the answer sheet provided.

L

‘1. Which one is fermented food: :Q.JI.'}I@?/;JU:{ 1.1

(A) Wheat flour 762" (B) Powder milk 2253} (ET' Vitamins s (D) Yogurt 3

2. The medicine obtained from mineral is: _+Jl,,.,ffb¢;yy 2

( )Tinctureiodineuﬁff/f (B) Aspirin ¢/ ¢ (C) Vaccine g—':’"; (D) Pencilline u."l"’

3. Stoma are abundantly present: S lmrve o ?/b" 3
(A) on upper epidermis of leaf {tﬁ}u,g{'fT (B) onstem ¢ Q@
(‘E)/ln Xylem cells 257 (D) InPh @ 3.7 (}’

4. Secretions secreted by confiers are called: %T :q;{f/ui:)/dui.rrb;ﬂc,i x4

(A) Gums / (B) Mucilage é;: ins “xs (D) Latex u'@
5. Which lobe is concerned with hearing and smell: % ?e_u”jﬁw.;-,.ur‘iémlé_,ﬂf;( 5
(})ﬁ: J7 (B) Temporal @@ (C) Occipital J‘.‘Jf T (D) Paretal Mg
logy? wf{éc@f{anﬁjﬁ;wﬁuj 8

— ’
(B) Alilbnisa (=wif

(D) Andreas Vesalius .f?dau'gzl';'

6. Which Scientist wrote three books on
(A) Abn al Haytham ]A’-‘st
(C) Gregor Mendal )k

7. Human both hands have bones: A UL g T
(A) 50 (B) 52 m4 (D) 56

8. The example of corms is: -‘adl‘»g}}uf 8
(A) Ferns 2} (B) Ginger ! (C) Onion Ji (WD:sheen Jassl

9. The female reproductive part of flower is; ‘e uTAEIA 9
(A) Calyx J@’ (B) Corolla 115/ (C) Gynoecium f"db’ (D) Androecium (ﬁubi

10. The branch of Biology in which we study about inheritance is called: c.dﬂf u'c:./ul" LHufi sl 10
(h)/Genetlcs u’@ (B) Ecology (/¢! (C) Morphology ($+#6.4 (D) Physiology G

?- 1. Number of Hydrogen bonds between Adenine and Thymine is: -‘g;wd’/‘;l_.pﬁwf ol LGl 11

(A) 1 (B) 2 ©) 3 (D) 4

12. Primary source of energy for all ecosystems is: -q_.gaid:l_éb’&}!é_;()” el 12
(A) Electricity f  (B) Sun & ©) Fire JT (B Ntrients %
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RollNo._____ </ ppmpd (For all sessions)
Group-II- 'r’/

s PN Py -
Biology (essay Type) &) <P
Marks: 48 Time: 1:45 Hours ! 1:45:= 48: 4

Section-I 2x15=30 Jilo
2-Write short answers of any five part from the following.  2x5=10 -,_«!"..-.pzﬁ’z:.m ébc..sz_uthcu -2
i. What is difference between inhalation and exhalation? &:..J/qu u"}“] bs!j-'&"f g
tiﬁj What is Asthma? Write its symptoms. u‘d...twd/w"c_l/.» i

iii. What is lithotripsy? *'c.uﬁ;#/,v" il
i® What is kidney transplant? “c:.;l/[[c...rtrl/d/ v

v. Differentiate between Renal Cortex and Renal Medula. 5/ C' A U,HJ’MUG KJ’ “
vi. Differentiate between nervous co-ordination and chemical co-ordination. .—,‘.{ EWIAL TS !;Uﬁ‘f AToS LW Vi
vii. Define the terms hormone and endocrine system - ff._.y/’gf V!/ izl Nz lo bt vii
viii. Describe two important functions of spinal cord. kb f»é:ubU"L iii
3- Write short answers of any five part from the following .  2x5=10 r,?q...gl 6 v étadfagﬂd;bu -3

i. Differentiate between bone and cartilage J/u.. V;Knl(u-’)d; .
ii. Define Hinge joints. J/Ju'" b il

iii. Define Hypogeal germination with an example. @O 4’3_)&-_{!/:15(_» FAS u"‘f?.,,k“’q i
K\

— = ——

iv. How spermatids are converted into sperms? ?u_ra.xdjmﬂfgcju g v
‘-':_)f/bfc_.o')t‘//i}f'/;;f' J Y

v. What is meant by external fertilization? @ clpl X
vi. Define Homozygous genotype. % -z,if.; /""J.{’L'P' “Uyw Vi
@ (tﬁﬁu’,/hb Vil

vii. Write the names of four nitrogenous bases.
viii. Define trait. @ é._w/w.u Vi
£4.- Write short answers of any five part f ?ollowing. 2x5=10 gq_,pf/""ﬁ,lyl ‘lc—(jfa—;ﬂd"‘b»
_i. What is meant by urbanization? Gj 0 reasons. u"ﬁt 2 ,,,ng‘;_ ,s/u";,j Fel i
2 i Define symbiosis. _q/...e/&ﬁvuf’ i
iii. Why are the transgenic organi being developed? . ?u'c./bélbu.{:wb L i

é;/.uwzyr..m v

e rie u"’?-@ﬂ v

-d/};.;j_.ula:/d’bc..:yﬂ Vi

L Fe VLIS ame e i
-¢/...ijng Viii -

iv. Write down the uses of formic acid.

v. What is meant by Alcoholic fermentation.
vi. Write down drugs obtained from minerals:
vii. What are cephalosporins? Write its uses.
viii. Define vaccines.

Section -II (922
Note: Answer any two questions from the following. 9x2=18 -g{)})’:’ [.UZL.:; Uiruc_dfc_ S J_ s &
5. (a) Describe osmoregulatory function of kidney. 05 ﬁ:—;gJ‘.’ ] ;JJL;"{:..:L(JI) S
s (b) Write a note on structure, function and lobes of cerebrum. 04 -.,,_‘/_/f.:,i,;z,’m:)vduilé,'ﬁ. ()
§. (a) Write a note on disorders of skeltal system. 05 -u.‘(:-}{fl lcC,/’" () 6
¢ (b) Discribe the advantage and disadvantage of vegetative 04 - /Ul 56 5y :é’-‘v{;Ju»g ()
propagation in plants.
7. (a) Write a note on acid rain. 05 -u:’{'..i{J:ggl gl 7
04 Sl ()

(b) Explain objectives of Genetic Engineering.
36-010-A-



DEesSIoNs;ZU15-2017 & 2016-2018 '
BlOlOgy (Objective Type) Group-I- Y:f | (%) & “.l?

L
Marks: 12 Time: 15 Minutes 42415 =3 12: 4
/erm{lé‘(‘}m‘ - -uu,.,.r’f.,mﬂwéé,;om,c,B,Aa,gm.-.%ﬁdrr,,-ége%mmu“,,-*éfdmyz&.:.uvrw:c.
U S S BIM 3 e LD | C B A sz L
NOTE: Write answers to the questions on objactive answer sheet provided. Four possible answers A,B,C & D to eaeh question
are given.Which answer you consider correct, fill the corresponding circle A,B.C or D given in front of each question with Marker

or pen ink on the answer sheet provibﬂ

1.1 Painkiller chemical produced by brain is: : - --ﬂuul,éuf&t: A3
(A) Insulin 2y (B) Interfergn ws2 1 (C) Thymosin %G (D) Betaendorphin s i
2. Which drug is obtained from bacteria? \ | S ded et 2oimyy 2

(A) Aspirin = ¢/ 21 (B) Paracetamoh Jrtriz  (C) Terramycin u.’gjl.'ﬁ‘ (D) Streptomycin u:”JL?;J/‘f
3. A narrow opening present at the floor of Pharyax is called: -q_mfz',u,»mn;‘j/'éufé 3

(A) Larynx (B) Nostril J:t (C) Glottis ¥ (D) Trachea £/

4. The normal core temperature of human body is: QO -‘a(/,-/;’).:/l}gu&uxl‘_bwuw 4
(A) 35°C (B) 37°C C) 39°c§w\<>@ (D) 40°C

5. All of the following are hormones exceot: \ O%% - iU S5t n 5

(A) Glucagon /¥¥  (B) Insulin s % yroxin o~ Ldw (D) Pepsinogen s
6. Which hormone develops the male secondary seters? : ?+ru;}§[u'?d/ﬁ?;ur/;uf 6
(A) Testosteroneu:/fr':“' (B) Estrogen ¢ AN ‘(C) Progesterone s ;"5‘,4 (D) Insulin ufj-f';
0N N\ L leFhadss
actbone u::w?:‘r (C) Cartilage 5@;&’ (D) Spongy bone u:.'(j:;r
\

7. The hard outer layer of a bone is cal

(A) Osteocyte /st (B) C

8. An examploe of corm is: , _§_J&.9Jr// 8
(A) Ginger (B) Onion Ji, (C) Potato #7 \\ (D) Garlic '

9. The amount of sperms in semen is: \\ St 9
(A) 10% (B) 50% (C) 80% D) 90%

10. Cytosine always pairs with: \‘ 3 Sutszzaty e 10
(A) Thymine 23¢ (B) Adenine il (C) Guanine 1 (b) nb(acn Sy

11. An example of discontinuous variations is: ' \\,\ DS AN § g BT
(A) Height . (B) Blood groups gﬁ-’)./@: (C) Weight s (D) !ntelli\égnce A5

12. All carnivore animals are: | -‘,:f?émilgwg}/b’(v’ 12
(A) Parasite /L5 (B) Host &ow (C) Predator iy ' (D) Pathogen\\\u’-ﬁi

33-010-A- W W \
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Sessions;2015-2017 & 2016-2018

Biology (Essay Type) Group-I- '?"/ (ot &) h“-l.l:; ?
Marks: 48 Time: 1:45 Hours & 1:45:=3 48: 4
Section-I 2x15=30 Jilo
2-Write short answers of any five part from the following . 2x5=10 -q?q.-.,u;zﬁ?z:,:m é&céfa-gﬂg)_i(yn -2
. What is difference between larynx and trachea? ‘.‘_;J/‘gu:_b;:‘ul‘/f{ i
li. How smoking effects on circulatory system? St A A UR A e i
lii. Define Homeostasis and give an example. ~SJeLniy Sy /.’.Ju"’}'/):‘n i
iv. What is difference between latex and mucitage? ?.;.J/'l[w é}/:lu@ Jdv

v. What is meant by lithotripsy? ‘.'c‘:.,:l/\[c.&}ﬂ v

?z"_)‘/'y_-(c..u_l(é! Vi
vil

. Define Reflex Action and give an example. _Q’:J@.{u,qu.yﬂfuig lul*hj Vil
viii. What is difference between sensary nerves and motor nerves?

vi. What is meant by ganglion?

‘-'g.J)l_.ﬁj.'.'}:/'/‘r‘uU)/'d/Z i
3- Write short answers of any five part from the following . 2x5=10 -#U.:Llﬁ/‘"?&flzl éga.é,&.q‘zsz-,» -3
i. What is fibrous cartilage? ?a‘_:l/l[:_.é;ﬂ/ﬁ’ B
. Differentiate between hinge and ball and socket joint with examples. -/ /e U0 Lt el7 )] sl 12

iii. Define fragmentation and give an example. ~SaJeLniy S u S iz 7 i

0
v. Define endospores and give an example. ©<i@ ULl Sy P S bot v
v. What is meant by alternation of generation?

S ‘e RASTFP v
vi. Define translation and transcripation. %&% Lt S AR F ) i
vil. Why did Mendel select pea for his experiment? @ WU L Lo F el S i
vili. What is meant by incomplete dominance? Give an e also. _q,g)‘-’dti«.p?;,)ygfc_u"‘-‘isdft

Vi
4- Write short answers of any five part from the\@wing. 2x5=10 - gigg,_.,g,z ,F?L,fz; §,¥¢_JI¢_¢J: 3t 4
I. What is Biological nitrogen fixation? & @g’ﬁ% ,"tdf).,lgg i
. What are camivorous plants? Give amples. . _43,.)1)&»?‘)32.,7!5&.;;/»&% i
iii. Describe the role of Biotechnol he field of environment. -gﬂ;w/ Il Jpl i
iv. How does lactic acid fermentation occur by bacteria? e 3,14 w’»":'/'i/.l..ﬁgzj_zjég )—C AV
v. What is the use of saccharomyces in fermentation process? S S AL L S 2
vi. Differentiate between pharmaceutical and addictive drugs. - ugJ}&;g»w‘.ﬁmJ;fhﬂm Vi
vii. Write down the function of sedatives and give an example also. _ﬁﬁdb,,!éf/fd" Wiz A Vil
viil. Write down the effects of marijuana on body. - ~$:« /’.;l}i[.tb?o’ ,{4()‘ il
Section -II 03 >
Note: Answer any two questions from the following. 9x2=18 -‘,[)://::v@!zéa ﬂlruc.é:i:;_;jd I PROR
5. (a) Describe osmoregulatory function of kidney. 05 ~$E;y.d"" dﬂ:{zﬂi(a:/:(..i’f) £

(b) Write down the disorders of human eye. 04 -45/{}‘@&! T[}UL.(__/)
6. (a) Explain Antagonism in Muscle action selecting biceps and 05 LSLHFLS Pl Ol ¥ S .8

triceps as example. -é{:»u;;frlf +Y
(b) Give an introduction of Pakistan National Aids control Program. 04 -@fjg.s;w.gfra&d,ﬁyféw’; )
7. (a) Write notes on global warming and deforestation. 05 -4:‘6.:}46&( St B ff (i) .7

(b) Which basic steps does a genetic Engineer adopt duringthe 04  cUdihd s 2 @it AL AL

manipulation of genes? / /{ E‘;.t:f
. 34-010-A-



iﬁ'{ 7&( j’f{ ‘ﬁ{ S.8.C - (Part-II) -A-2018

RollNo. e Sppiwi PaperCode| 3 | 4 | 6 | 8
Sessions;2015-2017 & 2016-2018
BiOl()gy (Objective Type) Group-II- v:/ (u.‘)/’ ) 1-"—':\2‘.?
Time: 15 Minutes &#15 =3 12:/4

Marks: 12
Aty J8ina s ang WA U"frgjngé_)om,c.B,A.;yz.-,@y[.dlmz;’%g»’@rzu‘}/'&jmwéouwa:e,

e S SB35 D L CBe A sz L
NOTE: Write answers to the questions on objectiye answer sheet provided. Four possible answers A,B,C & D to each question

are given.Which answer you consider correct, fill thé, corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. The example of Rhizome is: \ _+JC’J(,JL§!J 1A
(A) Onion Jl (B) Ginger i \ -(0) Garlic o7 (D) Potato #7

2 The actual location of gene on chromosome is: _‘Lrw-‘}‘ib’ui"’;;lé(rn/ 2
(8) Chromatid ../ (B) Locus /% (C) Centromere /4 (D) Karyotype wttd
N gLz S sSSP sger 3
(A) Cultivars J/ho’K (B) Breeds ik {C) Carnivor@ (D) Insectivore wd’?!.
The symbiotic relationship in which both parteners get benefi; ﬁo Y Plr Y13 /’u}»;ﬂf;ﬂ&‘{,@f L,j 4

(A) Parasitism (7Ll (B) Competition J‘:L{ %@m tualism 4% (D) Commensalism r)‘-’u"f
3 IS WO (Ot 2

3. Bred plants are called:

5  Lactic acid fermentation is carried out by many:

(A) Fungi (¥ (B) Algae (! <@ (C) Bactexa |25 (D) Protozoans sy

6. Which drug is obtained from plants?_ ' ‘.‘:‘,JQJJ’ b:_,u»gl»o";( 6
(A) Aspirin /2" (B) ilin o¥ (C) Cephalosporin wius#~ (D) Opium s

7. The amount of oxygen in expired air is: ’ -§./fﬁgf‘f:/7u¢lndl;i.ﬂ(w¢;g T

(0) 21%
et/ T 8
, (D) Tomato sV

(A) 15% (B) 16% (C) 20%
8. Which piant produces latex?

(A) Keekar /9/ (B) Conifer },-,f (C) Rubberplant iy
9. Which hormone is also called emergency hormone? ‘\ ‘.’q_t'lgbfu"unw"’ '/.:hfur/}‘f .9
(A) Adrenaline th;,/,u:' (B) Insulin drjl {C) Oxytocin cf:a/ T (D) Calcitonin u’iu’g
Processes that carry nerve impulse away from the cell body are called: ..q;LMugLngz»cd 5;&’)’ Jﬁ:/'_e?:/.{ 4 .10
(C) Myelin sheath 3:’&’& (D)\‘-,Synapse Utde

e WS et dils

10.
(A) Dendrites %5 (B) Axons !

11 Which of the following is the hardest connective tissue?
(A) Cartilage @"J/K (B) Bone /4 (C) Ligament 2, (D) Téqdon o

12. The optimum temperature for seed germination is: s /,i};\/}TZJ_Lﬁd]J & 12

(B) 20--25°C (C) 25--30°C (D) 30--35°C

(A) 10--20°C
35010-AWKRRW )1



S$.8.C - (Part-1{} -A-2018

RollNo._____ c_fé:f/"y;
Sessions;2015-2017 & 2016-2018
] e e
Biology (essey Type) Group-11- s/ zen =l
Marks: 48 - Time: 1:45 Hours & 1:45:25 48:/7
~ Section-I 2x15=30 Jil»
2-Write short answers of any five part from the following . 2x5=10 #augli/"'ﬁolﬂ Jfa.u.f J:C» -2
i. Define cellular respiration. ; - 2 J' /u//}’ .
ii. Why does blood become thick due to smoking? Give reason. -c;_‘({ ‘.‘g.tlgrw(;/ u;’c_...g/r’ i
iii. Define homeostasis. .»;{»/J ew il
iv. Write two symptoms of kidney failure. JVLW»JLJJ; Lc_;f v
v. What is meant by tubular secretion? “c..ﬂ/U’r.:..J’ ):/rz: v
vi. Write the names of the components of co-ordination process. ﬁ%éﬂﬂéfﬁu” 30 i
vii. What is meant by myelin Sheath? E "c:lfu'c.z"uJ‘L Vii
viii. Where is the cerebrospinal fluid found? ?LtbLLuLif(CSF) J-U’L;/d/ Viid
3- Write short answers of any five part from the following.  2x5=10 #a..tli/"ﬁ'l?l 61'.:_6/4.&‘):{,1) -3
i. Differetiate between bone and cartilage. OANE il i
ii. Write the names of three causes of osteoporosis _uf‘f:tﬁut.?,d&j/ 19 i
iii. What is the difference between sexual and Asexual reproduction? Q@“Ld}b@"u’(;w;g}r&.w‘}r& il
iv. Define the technique of tissue culture. @ -J/J/Jﬂdffyﬂ Jdv
v. What is meant by pollination? " %Q%O ?c‘—:’/‘krc—f J%’ ¥
vi. What is meant by true breeding? @% *‘LJI/LQ—_.ﬁ/;/' Vi

-J/J/’JJ!JJ‘J".Vii
sili. Differentiate between natural and artificial selectio -u.f’{)/u"; be"‘ufdm WViii
<ri@wmg 2x5=10

gﬂuwf"&m étc..d)?.utd;c» -4
an ecosystem. S /’;;lu‘afcéflil[.(" ¥

vii. Define gene and allele.

4- Write short answers of any five part from t

i. Write the names and define the compon

ii. What is smog formation? “‘Lt'rifb:.ff i

iii. Write four advantages of using fermenters. -J_/:/f;’tblgédwll.) K

iv. What is plasmid? How does it work? ?q.t‘/?Ké_.‘f,?LgZ;féljig v

v. What is Beta endrophin? Sesl e Skl v

vi. Define Narrow Spectrum antibiotics. -q/ug.efd&@fg&il(f'gj Vi

vii. Name few drugs obtained from animals. -E Pl g/ e unde Vi

iii. What is meant by Social Stigma? ?c‘;.ﬂ/“b‘/c.l.@fr vii

Section -II (932>

Note: Answer any two questions from the following. 9x2=18 &L?cf.u Uln:c_dfc. u.‘.J it Oy

5. (a) Describe the role of skin and lungs in homeostasis. 05 5):;1;/ KUssafessl ot T n () 5
(b) Describe the structure of human Ear in detail. 04 ubr.-.g}:"r =33 du-(._,)

6. (a) Explain the components of human skeleton. 05 -q/...»wJuf’L . Luw () .6
(b) Explain the two methods of Natural vegetative propagation. 04 ./ /ealsfUs® And 2%, #5515 ()

7. (a) Write down the effects of Air Poliution. 05 uf"’;l/ll.uf )“d‘:f @ .7

{b) Write down the objectives of Genetic Engineering. 04 Sl £ /’ .,@l(..,)
36-010-A- A



